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1. Converting binary to decimal
2’1/0/-1’_-2\2 1 0 - 2

101,11 o) ~10 21722402 "+1%2°+1*2 " +1*2 2=5,75
e el

Answer: 101,11 = 5,75 o

2. Converting octal to decimal

1’0/-/1”:2’—\>1 0 » 2
57,24 5 510 =9"8 +7"8 +2*8 +4*8 "=47,3125 ,,,
w

Answer: 57,24(8)2 47,3125 (10)

3. Converting hexadecimal to decimal
/"—\

10 4 -2 1 0 1 2
7TA 84 15-(10=7"16 +10"16 +8*16 +4*16 "=122,515625 ,,
\_></

Answer: 7A,84(16)= 122,5 15625(10)




Addition of two numbers 1n octal

1 1
5 6 3 54, L
218
71216 18| 31 1, 2
4+5=9=1*8+1 "4+6=10=8+2
5+0+1=6 5+3+1=0=3+1
3+7=10=1%8+2 14741=0=8+1
" 2+1=3

Answer: 6354(8) + 705 o8 7261 @) Answer: 2154, +73,6 .= 311,2

(8) (8) (8)




" 1 Co.24
89 14
2|14|E|3 46 1+2=3

Addition of two numbers in hexadecimal

5+9=14=E

C+8=12+8=20=1*16+4

8D, 8
T 3B C
Co.4

1+1=2

|8+12=20=16+4

Answer: 1C52(1 6 + 891 (16 24E3

13+11+1=25=16+9
8+3+1=12=C;

(16)
Answer: 8D,8(16) + 3B,C(16): C9’4(16
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